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T |/min /m Hmm  Imm kg kw v Hz A 1/min
(01138)"

(zzzg)" FH403B19 40/29 488 197 184 |0.55 200-220 60 241 3375
460 60 1.14 3405
- L FH404B19 40/39 529 197 19.5 ]0.725200-220 60 3.10 3355
3 460 60 1.46 3425

FH405B19 40/49 529 197 20.3 |0.86 200-220 60 4.15 3440
460 60 1.85 3440

M20x15 Q ;

il FH406B29 40/58 629 297 21.2 |1.06 200-220 60 4.8 3440
L“ A 61 460 60 2.1 3440
ﬂ! 'TL<>|£ T FH407B29 40/68 656 297 224 |127 200220 60 6.0 3440
e | \ FH408B29 40/78 22,5 460 60 2.4 3440
\ | | FH409B29 40/88 678 297 30 |1.49 200220 60 6.2 3500
[ 460 60 27 3500
Leckage G 8/ | ‘ ‘
| | \ | | FH410B29 40/100 678 297 302 |1.75 200220 60 7.1 3470
| 460 60 3.1 3470
FH411B39 40/110 804 397 324 [1.95 200220 60 7.9 3480
FH412B39 40/119 33.0 460 60 35 3480

FH413B39 40/129 836 397 38 2.18 200-220 60 8.8 3500
460 60 39 3500

FH414B39 40/139 836 397 38,5 |2.55 200-220 60 10.0 3480

FH415B39 40/150 38.6 460 60 4.4 3480
FH416B49 40/159 936 497 390 |294 200-220 60 117 3480
FH417B49 40/170 39.1 460 60 5.1 3480
FH418B49 40/179 39.2
o FH419B49 40/192 929 497 509 |38 200-220 60 143 3520
FH420B49 40/202 51.0 460 60 6.4 3520
*) FH403..FH408 O}
*) FH419..FH423 O~i% FH421B59 40/214 1029 597 51.1
FH422B59 40/224 51.3

FH423B59 40/233 1029 597 556.5 |4.55 200-220 60 179 3520
460 60 7.9 3520
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